CLAT 99 # §%adl & fad afora v siffer

& &% 15 9fafSad of Fped & o gfday 3mAfad gt arel Foie (CLAT -
Common Law Admission Test) TU&T H 200 AFH & YW 200 3ifsaided WbR &
geat # R v @Al g &

English including Comprehension: 40 Marks
General Knowledge and Current Affairs: 50 Marks
Elementary Mathematics (Numerical Ability): 20 marks
Legal Aptitude: 50 Marks
Logical Reasoning: 40 marks

3T H TAF ITold 3cak & [ 0.25 AT FT 3T §. 594 ffaRked
AT TR HT Bafa & AR Ui et & wrfen Fefaf@d HAEar 8
1. et vediegs # e A
2. I+ Iy
Folc U & JIAT el 3eddd feifca #fdher gRer & o & ol off
gfdanelt & fod 98 3ccR & TSl (accuracy) ARG FAT 3cdd HTaATS 8T
ST & TUT FE accuracy & CLAT H Hheldl T HoaH F3T HoldHT 3 WA AfFcemmel
3YROT &1 ST §. 39 s Yfaredd GRIET & 396l Teh VEr Teoll & Iy
HIT ol IR, S 3M9H o A% Ueh cATIE@™ §a0 (W, dfesd 3T o S
37hl T STGTAT FX Th.

SH TSl # oI & 9w sifaepr §. 0 @R facandl St afvra & arsy 8
SIRTeT AT E&TAT (knack) T@A §, IMOIT & Th S0 & ®T H IYALT T Afgd. 0F
faeanf¥ial & @ & 3R =g gfaafrt & @ & e e B FHSE
IqIREY. Folc o fold Ufd a¥ @meTer 30000 & wamer et & §, 3R T A
ST =1feT foh 3o & 80 widerd & 3f&reh gdiemedt qot 3carg, widsedr, S 3R
qul FAYUT & WY R W @ ¢ ARET ® & nwhr gfaeaet 37 & @y g
IgT Tg o Hecaol ¢ f ARe foee & urer & 100-125 gROmAT & 9ReTd s
0.25 & HAFE Fere R RGN T J&ar & olcAs gig gl Sl &, 3R 386
aig ARe foe & Ao & 3wea fAf@d s ony & &,
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d: 39eh o 3maeds § CLAT & Elementary Mathematics & 92l &
AT @il A 319 fFash SfFeaq &1 39T e @, Foie 2015 & 0T 9ie

P Tg T W 3R 3oTh caRd 3ccd TS el T T daAlleleh dlihl THS:
The simplified value of [(0.111)* +(0.222)" - (0.333)* + (0.333)*x(0.222) T’ is:

3ccR: HAET degel 0.111 & IOmhi & §. 37 ~geIdd deg 34T 0.111 =P (&)

> & TS dEAT = [(P)’+(2P)’ - 3P)’+ 3P)*x (2P)]°
[P’ +8P°— 27P° + 9P?x 2P]°
[P*+8P*— 27P + 18P*]°
=[27P°-27P*1°=0

Question: When 21/, is added to a number and the sum is multiplied by 41/,, and then 3 is
added to the product and then the sum is divided by 11/, the quotient becomes 25. What is that
number?

3ca}: HTT Jifod I&aT Pg.

NGk =25 {(P+3) x2} + 3-25x2=30

5

> {(P+2)x2}=27{(P+3)}=27x2=56

sAfoIT TRl 0T Fr Hifoldh JTUROMT 1 AT glaT a1fey, 3R 5@ fawy
H G ?gﬁ?ﬁr Jaefse T@er arfgd. @y & Ifoia 39 TadT (persistence), GGl
(passion) 31 ITASEAT (commitment) & HFT HIAT §1 3T F&6F & IS, FAT 39T
25 de ool (YBTS) TG g7 FAT 3T 9UH 25 ST HE&IT deh o ddlt ol AT (square
of first 25 natural numbers) STTeTd &7 FIT 3TY af8d SO Hﬁ?ﬁaﬁ {like
(A+B)?, (A-B)*, (A+B)’, (A-BY’ etc.} ITG TAT 3eAhT Tl &, Tolelehl 3TUel 3Tl 3Taar AT
sAldl el & 3eageT fhar g I g Ha iy I8 ¢ Fifd Foc & I & gAY
HT Jgd Heed g. HAT: Fle H 90 38-40 gs& & gl & 5@ 200 e &
AR 39T 38 & G A qUT A giar g, IS 3T @AY IR Ieal I TaHgIEr @
awaﬁwﬁ%,Hqud 99 Yok A Hehd § STl IRATSIT HHT 81 5. €T
T & I Folc H 339 AV 180§r25ﬁ3§rq§d 3BT Ad &, JT A0 & It
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gfaerd weaAl & TEY 3cal & 1T I Y TN H AT ohd &, Fole 2015 & 5T
L B IATCE

If x = (16>+17°+18°+19%), then x divided by 70 leaves a remainder of ...

a@ﬁﬁ¢%d%q<rgagwa§3mqm%.sﬂﬁ3ﬁwaaﬁ$mé§%€r
ﬂ?ﬁgé%"%

(A+B)’=A’+ B’ + 3AB (A+B)
2>  A’+B’=(A+B)’- 3AB (A+B)
> 167+ 19°=(16+19)’ - {(3x16x19) x (16+19)} = (35)’ — {(3x16x19) X (35)} - (P)

sdT YR a-
> 17+ 18 =(17+18)’ - {(3x17x18) x (17+18)} = (35)’ — {(3x17x18) x (35)} --- (Q)

37T FHIRIOT P AR Q I g & I el &l 30 YR for@r 1 Hehell &
P+Q =(35)’- {(3x16x19) x (35)} + (35)°— {(3x17x18) x (35)}

> = {2x(35)"} - {(3x2x35) x {(8x19) + (17x9)}

> = (2x35)[(35%) — {3x{(8x19) + (17x9)}]

Afaa 7 O Ig (2x35) 37ATT 70 & =T (divisible) §. 37d: remainder = 0.

3 gfe 3T Ao & s A oY fARed cetar W@a & 3MUS 5§ gEeY
H RAgds faaR e @y & 39 @ w@ afd # Igwiod w3 5w
gR 3T T H 3R 37 IR afaafEaar & v a1 s AfFEa #8 smaer
Ig I, {WaT difgu b Ife Folc & 9I9d & M0 & ger fgar amw, A9 180
geadl 3R 180 AR & fow @l el el 3ol durlr & AT A
3T & T & Ul W A, 30 YR Ig shad 0T & § ot gfaaifaat
& & @it @O dR AaOa) & ALy ve g9 IR AFET = dar & el
foarola a8 § T Icaf aiftia & o Folc &1 Beew a7 10 dF & IRfAS
AT A AT IRAT §, Folc & TG F FeT 11 & afog Boaw T o v
EEE T g 3Ny, Foe 2015 & A0 & AFAfaf@d 9 ST Permutation/
Combination and Probability & fordr a1 g:

A man has 9 friends: 4 boys and 5 girls. In how many ways can he invite them, if there have to
be exactly 3 girls in the invitees?

A die is rolled twice. What is the probability that the sum of the numbers on the faces is 5?
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A speaks truth in 75% cases and B in 80% of the cases. In what percentage of cases are they
likely to contradict each other, narrating the same incident?

JUH Y% HATT HaT (Permutation & Combination) & foldr Imm g, ar
AT (Probability) & foldl 3 AW ar g g 3T g I AT g Hew 11 Hr
0T & o I §. Wed 99T AT & ford 3mmaegss g &6 3maer independent events
3R mutually exclusive events 3 3cch UcloleRT &I AT gl 3Th fARFd E{&-W
(Distance-Time) dTel 9=l X T GU-HAT IMh & M9l AYOTAr 3R Iaeronsit &
TSl (clarity in concepts) g aifgd, Faifh 30 ghR & Ul Ui gfadifErdcas
et F I & W & 3aERony, Foe 2015 & AT & FEAfaf@a g @

SfEd S guATSTAr g Hfod o9r &, o] 3edd T &

Two trains, one from Howrah to Patna and other from Patna to Howrah, start
simultaneously. After they meet, the trains reach their destinations after 9 hours and 16 hours
respectively. The ratio of their speed is........

A O B

TUH ¢ (A) TISC A @ B &I 3 a1 Vo & g 38T AT @l ¢of (B) T@i8e B A A
Sl 3R A Vp § @ gl 8. & el o8 Ueh g@El &l Wsc O I I Hdl 6.
fAfRed ®9 & carge O % gl &8 FAT FAY ol AT JE THA T & feAT g3
g fh &7 A g OB 9 € & AT ¢oT B, gl OA®I 16 € & dF &Il &.

34, E{\ﬂ' = a7t x AT (Distance = Velocity x Time)

([T AFR | B F o AT gl & SHROT
AO VaxT Vg x 16 VaxT =Vpx16......(Eqn 1)
OB Vax9 Ve x T Vax9=VpxT...... (Eqn 2)

Eqn 1 8 T= (Vg x 16)/ V4
Eqn28: T=(Va x9)/ Vg
9 {(VB X 16)/ VA} = {(VA X 9)/ VB}

D> (V) (Va)} = {16/9}
D> (V/Vy) = (4/3)

Folc e H AHAASNT T HAGABN H 0T favT HT AT & AHfARFA
AT & 3T AR &I 8 7 TACNTEE S olell =MMed. Folc H & dlfotehel
JfAe & ueal 7 39d IR 0T & GFafaa g 31T S g, 10T 39 ATRASH
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& difolehd U¢ FI e IEId WA H HAce T g, 3 319 FEy off g &
AT g TATNTAH 3fh Jg Tk & o Tl H FaTe g o &.

3, afe 39 & aIftia & o Oier ar o Afalkead 3care 8, 3R 39 Fele
qdlem T JIR I W &, IR ToAlg § b T U deforrTel T HIRAA Y,
ReEa T 3R 7 3care 3R 991 & @ 57 9dem Fr ARy &Y. g 39 7B
2016 3 BleT aTell Felc TR H HIIT ol S I§ &, ATIR HAE g Tob AT Felc I
IR @ geefad R o grde @ aifoid i dIrr R 3R gfafed A ey der
aftd & §. 319 AfRTa ¥ & 8T I ders Y IR FaRyd . AURUEAT
# it & e a1y A0d & IR - 9ig el Th 91y IR a0 & faeaE
@A g 38 U faflse @mer &, 0T A dhedr & o wfawedr & v S
HIART § TUT 3o Il A gidfeed Ters et & Naloel Reaw @ar §. 39 o
IR-GIT I HI Teh AT IRHA F. IS 3T HET 11 &7 A0 AT JI X [ &
dr dT 2, W SiFdeee 3R AiEfafedT 3 v araEadar S . e
Al At A HIAT A GASIA H A Al e gfadeh afog # verdiva
(Least Common Multiple) 3R TIHITE (Highest Common Factor) & 3o oI, qm{?"\’l?f/
PIFEAAT & Hoal @I, R 3R BaeT & Feal o, haer 2aRA 3R RAe=T
LIRA & 3ok Al g0 FHSAS 8. 31T O & FAL AT I 3aRT HY, W] THT
SHY FIIGT 3oAehT 3cdicd (dérivation) I 3T THSTAT AT,

3 A, A0 H AFex @TeA &1 a8y TUH § S IS F TAwEcH T .
3R AFR BTEH & 3= F GHSET AT, TP Sgal GHST 39! I0Id &
A Ul & FATHTT H FAGE I, Folc HI AR H IO A 9% garT fear
IGT AT AT JTARFT AT 3MUHT Teh VAT SeadicHT g, foldehl oflH Tl 3Haed
.

CART: Hold HIgel AR
anukriti.maths@yahoo.in
Mobile No. 8871503701 (Bhopal)
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